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Note: 1. This question paper contains 8 questions you have to answer any 4 from these.

2. Each question is of 15 marks.

Que.1(a) Differentiate primary data and secondary data.

(b} Answer the following.
1. Prepare Proper Frequency Distribution from the following.
7,10,7,6,7,5,4,6,3,4,5,8,},2,3,4,7,9,5,3,4,5,7,8,6,4,1,2,3,4,6,7,9,5,4,6,10,8,5,4.

2. If the marks obtained by a total of 30 students in a class in a 100 mark test are as follows, then

construct a frequency distribution such that the first class is 30 - 40 with equal class interval.

44,54,58,34,52,40,73,82,57,88,39,80,46,36,64,85,49,66,
53,58,41,75,34,62,57,72,68,80,57,81

Que.2{a) State various methods of collecting primary data.

(b) Answer the following.

1. Convert the less than cumulative frequency distribution to the simple frequency distribution given below,

Less than 10 20 30 40 50 60 70 80
Freq. 5 | 12 24 44 66 84 94 100

2. Convert more than type of cumulative frequency distributions to simpie frequency distributions.

More than 5 10 15 20 25 30 35
freq. 50 46 37 26 11 5 0

Que3.(a} Explain dispersion in details.
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(b) Solve the following.

1. Find the mean from the following data.

L_ ggg { ____ U | 1524 | 2534 | 3544 [ assa | s _]
: 20

2. Find median from following data.

X__ | 145150 | 150-155 | 155-160 [ 160-165 | 165 170 | 170.475
F 2 12 | 15 20 17 2

Qued.(a) Explain coefficient of variation and also explain its shorteut formula,

(b) Solve the following.

I. Find Mode(Z) from following data.

56-58 | 58-60 | 6062 | 62-64 | 64-66

F 2 5 14 60 187
2. Find Variance from following data,

X 15-20 ’_20 -25 25-30 30-35 35-40 40-45 45-50
F 5 12 10 3 2 1

Que.5 {a) Define: Random experiment, Sample space, Eve

nt, Impossrbfe event.

(b) Soive the following.
LI P(A)=2P(B)=3P(A B)=0.6then find P(AL B).

2. tP(A)=03,P(B) = 0.5,P(4/B)=0.4 then find P(ANB),P(B] A), P(BY 4").
Que.6 (a) Explain the law of addition for probability.

- P(A)=0.65,P(B) =075 P(AU B) = 0.85 then find P(A~ B), P(B— 4).

2. For mutually exclusive and exhaustive events if 2P(A4)=3P(B) =7k then find K,

Que.7 (a) Explain the binomiat probability distribution_and state its properties.

1. 3 coins are tossed simultaneously then find the probability distribution.

2. For a binomial variate n=10, P(X = 5)=2P(X =4)then find mean of distribution,

Que.8 (a) State the properties and uses of Poisson distribution,
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(b} Solve the following

1.Find the parameters for binomial distribution if mean=30 and s.d.=5.

2. Fit a poission distribution for the following data.

¢ 1 y) ! 4
F 37 36 19 6 2

(¢ =0.3679)
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Note: 1. 1L YsUAHL 56 8 YAl & Arlell iy RS uel 4 Yl cuiaiol .

2. €38 Yalell 15 el &,

YL () cdglelel 20l wals il wa oo i dl,
(01} oftAettell wetlol 200,

1ol 20et MRl urell Aol gl @il danz 53,

7,10,7,6,7,5,4,6,3,4,5,8,1,2,3,4,7,9,5,3,4,5,7,8,6,4,?,2,3,4,6,7,9,5,4,6,?0,8,5,4.

2. 9ls aletl get 30 Qe 100 Wkl s ol Rndeu oL oA Y B

dl & urell yei ol 30 - 40 8lal wal et vicRlel teted &lat A Rales

ugd (Aetril daz 52, 44,54,58,34,52,40,73,82,57,88,39,80,46,36,64,85,49,66,

53,58,41,75,34,62,57,72,68,80,57,81

Uz, () wabls bl AsAd sealel QALY AQ weud,
(o) ol Aetloll Griz 0,

1ol et ol el ysizo 2atat wgR Qo wel gl @20l 1l 3uid

531,

Aot |4 20 30 40 50 60 70

80

gl

100
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2. o120 2t ol Ay usizall A aigld Qe o Atel vigll [@Qazel 3 5al

[ o ‘ ;
dtay | s 10 15 20 25 a0 s
!L_““Cé“ﬂ 1 50 a6 | 3 % 1 s | o
uA3. () ARl DRA g wHestell.
(o) ol dett yallell Griz vl
1. ol wet UGkl [Qczer urdl vras il
I 514 | 1524 | 2534 | 3544 | 4554 | 55-64 | 6574
| F g 11 15 25 20 13 | 8
2. ol vt gl [Adzel uedl 1rerza el
X | 145-150 | 150-155 | 155-160 | 160-165 | 165-170 | 170-175 |

F 4 12 i5 20 17 2
yad () Ylld Quaet el o altetsdl g8l Aot ansseal.

(1) oll2Aetl uslloll Gl 0l

1. el et wg[ [QcRel HER vlges .

X | 5658 | 5860 | 60-62 | 62-64 | 64-66 | 66:68 | 68-70 | 70-72 | 7274 | 7476 | 7678
F 2 5 14 60 187 | 304 | 263 | 121 36

2. o{lQ wlet gl [Aczer wel [Quctet Al

40-45 45-50

X 15-20 20-25 25-30 30-35 35-40
1

£ 5 12 10 8 2 2
yas, () ol el cauvey 20 ae(2ds yalol, blesl wasial, daell, weist yesll |

(013 oflAotl ol Gtz UL,
1. %60 P(AY=2P(B)=3P(ANB)=0.681 Al P(AUB) WL

2. %l P(A):0.3,P(B):O.S,P(A/B)=0.4 el Al P(ANB), P(BI Ay, P{BY A" WL,

yate, (vl) dellcell ol MRcml ol [ sl

(
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1 PLA) =065, P(B)= 075, P(A U BY = 08581 Al P(A— BY. PR — 1) 50kl

2. WRAUR olleuRs ol LA Beotl W2 2P(4)=3P(8) = 7K Slod il K 9l

ust7. () lsuel dendet [Qazet ameac dell opereel esoudl,
13 Al @sstal Als wdl Gl w2 A oo} wHetcod [Actzel Aol

2. 95 BURS A M 51— 10, P =5)=2P(Y - 4) 82l Al ubals S,

Y8, (v Ulatol [AddRul ot ot wal Guellallel s,
(o)l Aol ofl Gri? 2,
1.5 Bul2s ([Aceglell 1tals=30 val Y(=5 dat Al Aol Yrach sied

2. ollAett 1@ Wetatet [Ad20te] poct el 531,

F 37 36 19 3 2
(e =0.3679)

O 1 2 3 4 __1
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